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OsHc2Ex HE 500& x10,000% 5,000
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OXxZF&e| &dl el 150, 0002 =4 CH 600
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oelgHd = 60,000& x12& 720
402 212t X 20| & 125,000 0 125,000
03 212t EF AL HI 125,000 0 125,000
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— e SRS 300,000& »12& 3,600
— 20 S0lH 0SS 1,000,000& 122 12,000
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— =0 A 2HH 2 300,000& x53] 1,500
— S8tz ¢ Hzgdstz 7Y
10,000& » 144 £ 1,440
Ozxstg #¢ 1,000& x5,0002 5,000
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OZ23AN&EE mA &2 40,000
—UHEH MY SSRALSHSOIHDSE 2t
Ot RAE =+ 2,857, 1403 »70 & 20,000
—UHEHMEHSSR L SHS0HOSS
S JIEtAId= |X22l 2,000,000& 104! 20,000
OUHAE ATHMUHUHX AlIE2 |22
5,000,000& »23] 10,000
OUgadENssa & 2HS0HOISE ¥
Soll L H ALY 6,000,000& x33l 18,000
OZEANEE ZTMIA 20,000,000 =14 20,000
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=5 dEHY 8,000,000& »23| 16,000
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50,000& =12& 600
o=z 3AsE 7Y 300,000& 43| 1,200
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110,000& = 12& 1,320
ORVUSZ ALANLAFFAYY 242
250,000& x12& 3,000
02 3524l 44,915 0 44,915
OMESAE FAE 2,125,000& x4 4! 8,500
O=olg & 22| 31,379
—&IIAE 2 2,000,000& x12& 24,000
— AT AES 66,000& x12& 792
— A EOLME 3| 180,000& *x13] 180
— 2032 A=H| 880& *15L*4[H x552! 2,904
— AM& R X bl 2883 x2,439m 703
— MBI A 2 IFA (LPG)HI 700,000& 43| 2,800
O382sd 22l 3,236
— ML AIES 100,000& = 12& 1,200
—2s&ddaHl 1,540& *10L*x90 1,386
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ottgds7& Al&g2el 1,800
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-5 2 69,760& 109 642 1.5 66,970
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omZgly EYH 2¢ 250,000& *5CH x23] 2,500
O=AI EYH 7Y 1,000,000& =10 *23] 2,000
O& %I Xt 62,000 x4CHx12& 2,976
ONs & AME= 7,000 x12CH x12& 1,008
OANEZ2IAZE (100 E)
500,000& *12& 6,000
Ox=g& s APE 2 250,000& x12& 3,000
OFAES 2! 300,000& x12& 3,600
O8x+9 M 66,000& x5 x12& 3,960




A ALl A

g MsSAME2d

2 HMsSAd2aY2d (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O=EZ2 Mz 2,000 x1,0000H x2= 4,000
Ox=d&E =&HA =2 50,000 x12& 600
OagtotM A =22 500,000& x12& 6,000
Od&JIetd 2| =2 1,300,000& x12& 15,600
ONIEHM Y Al =2 560,000 *x53| 2,800
OsYI HEBANY S
200,000 x2CH x12& 4,800
o2 & JpAotM 22| X W=
145,000& 2% x 13| 290
02 Z2=2=2494| 262,900 0 262,900
OFSPIETE=: 8,000,000& x12& 96,000
OltAae=2 8,000,000 x12& 96,000
O3 5,000,000& x12& 60,000
OENR=2 800,000 x12& 9,600
OHAEED| R34 300,000 *13] 300
O2JI X237 2 WA 500,000& x23| 1,000
206 M = Hl 12,500 0 12,500
01 X Z H| 12,500 0 12,500
OfdasdedE(SEM, EME PHEEMHS)
2,000,000 *3&= 13| 6,000
O+LBUILEAGE (X)) 7Y
1,500,000& 13| 1,500
Ox=F&aBdd = 2A 2,000,000 x13] 2,000
O=sg&2demda¢ 2,000,000 *13] 2,000
O&I|  USLI ALY ADHE KNP
40,000& x25= 1,000
307 212t0| & 446,311 0 446,311
02 DIZEB AAIE E X 446,311 0 446,311
OZ0MESHHEZR2JHS2AAI X
446,311,000& = 1Al 446,311
HAESAAH| (AL 2EAYEA) 91,596 458 876 A 367,280
QISAR2AH| (Al 22 AL A) 43,200 348,000 A 304,800
Ol 2| (Al Z2IAILA) 43,200 48,000 A4 ,800
101 21 214| 43,200 48,000 A 4,800
01 = 43,200 48,000 A4 800
OAlZte 22+ 43,200,000 43,200
Jl2dd (AlE2elAre A) 48,396 110,876 N 62,480
Jl2d3H (AlE22lAFE A) 48,396 110,876 ANB2,480
201 et d| 30,760 88,728 AN57,968
01 AP 2t 2] H| 30,760 88,728 A57,968
Ogtt4f2y| 10,000,000& 10,000




A ALl A
M HY2IAZH (AE2elArgd)

el D23 (AE2elArg ) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ogag(2A) 60,0003 x2H x113 13,560
OY A (Hl &) 60,0003 x2H 20 2,400
O= &l 4,800
— OF2A 22X 8,000 «10H 34«12 2,880
= 8,000 12 »20A! 1,920
202 o4dl 13,436 17,948 N4,512
01 = LH o4 1l 13,436 17,948 A4,512
O=aotl 13,436
—JI2gRFT A 6,436,000 6,436
—ANEZ2=s0 7,000,000& 7,000
203 ¢ R =& H| 4,200 4,200 0
02 It =&Y 1,200 1,200 0
OIS R =AY 40,000& *30H 1,200
04 FN2ELRZ=TH| 3,000 3,000 0
ORN2IYSZ=AHI 250,000& »12& 3,000




